Plemons Options

PMS
Geared to the World

ASSEMBLY 2000301 R/L
TRAY FORM ANTI WIPE ASSEMBLY

ITEM| PART NO. | DESCRIPTION QTY.
1 0014701L/R| SHOE, TRAY FORMING 212
0018802L/R| SHOE, TRAY FLANGE FORMING 2/2
3 0019103 | SHOE, TRAY FORMING GUIDE 4
4 0031504 | PLATE, TRAY COMPRESSION EXT] 4
5 0034100 | BAR, SHOE BOX FORMING CLAMP| 4
6 0200900 | SPACER, TRAY COMP. PLATE 4
7 0207400 | SPACER, TRAY FORM SHOE PLOW| 4
8 0207100 | SPACER, OUTSIDE FLAP FORMING| 8
9 0054201 | MOUNT, COMP. BEARING 4
10 0206000 | SPACER 4
11 1501100 | WASHER 4
12 0016901 | PAWL, TRAY STRIPPER 4
100 0501101 | BEARING 4
101 1200800 | SPRING 8
102 8007300 | 1/4 NC X 1 3/4 HEX HD SCR 4
103 8032100 | 1/4 NC X 2 1/4 SKT HD ALLEN SCR 4
104 8007500 | 1/4 NC X 2 1/4 HEX HD SCR 4
105 8008300 | 5/16 NC X 1 HEX HD SCR 12
106 8008400 | 5/16 NC X 1 1/4 HEX HD SCR 4
107 8009900 | 3/8 NC X 3/4 HEX HD SCR 8
108 8010300 | 3/8 NC X 1 3/4 HEX HD SCR 8
109 8035900 | 3/8 FLAT WASHER 8
110 8036800 | 3/8 LOCK WASHER 8
111 8024900 | 3/8 NC HALF NUT 8
112 8036700 | 5/16 STD LOCK WASHER 8
113 8036600 | 1/4 STD LOCK WASHER 8
114 8007300 | 1/4 NC X 1 3/4 HEX HD SCR 4
115 8000500 | 1/4 X 1.0 NC BUTTON HD SCR 4
116 1201600 | SPRING 4
117 8025500 | 1/4 NC FIBER LOCK NUT 8

Parts List & lllustrations

00]
1

14 W. E. Plemons Machinery Services, Inc.



Plemons Options

ASSEMBLY 2000301 R/L
TRAY FORM ANTI WIPE
ASSEMBLY

W. E. Plemons Machinery Services, Inc.

Parts List & lllustrations

N
=
ol



